B B

F£17EAUTUMNLV T f — R T = AR

202249R78 ()K)

ZF850F TIZR M EFFE TS

AEAE

FZRAYIF7— TRV a1—ADER (RIFEICKYRXRH)

SYURAEYHR (J— S H)

9:005t & Bith

=iz

XRIZRZOMDEHICIYREAEZFEEETT HEENHYET,
XBARLFTRAEBRRBAERTLTWEGEIHYFET,

REEHNAET-Ra—h

A-Bfk 10—k 64 —LFH,/—TFK
=iZE-fE0 INAAR - 1DE -5
AT IL—T SETHE 237 JIE 432
(E) (#I58) (LB & - R
=E-fE0 6—0 6—1 2 2—0 1
INAAR - 1NIE (@ 6—5 2 1—1 2
- R 1—6 5—6 2 0—2 3
A-Bik 11a—k 67— Lk /—TF
. BE-HA | EHEE | ME-EK .
B IL—T SETHEHE a7 [=Fiva
(=E}) (8NER) (dER)
Sa-fHK 6—1 6—0 2 2—0 1
1EfE-INEF —6 6—2 2 1—1 2
INE - 77K 0—6 2—6 2 0—2 3
A-BfRk 12—k 67 — Lk /—TF
. ER-RA) | FE-B%s | EE-2R .
coN—7 SETHE &=l [[[Riva
(AL R) (BIER) (AL R)
R -Ea 6—1 3—6 2 1—1 2
FH-HES 1—6 0—6 2 0—2 3
FH-FE 6—3 6—0 2 2—0 1




A-B#} 1-3HLREH 123—F 67 — LR /—TF
SECHIETE =N IR N R
(LB GEEE) (LB e .
= ml 1—6 1—6 2 0—2 3
ZE-HK 6—1 3—6 2 1—1 2
EH-£E 6—1 6—3 2 2—0 1
A-Bifk 4—6fIRTEE; 11a—k 67— Lk /—TF
ARG | g | eEe | |
EW=) YA
(#Es) (#E8) (L8) 7
INAAR - INIE 6—2 W.0 1 1-0 1
k- INEF 2-6 W.0 0-1 2
- B8 W.0 W.0 0 0 3
A-Bfk 7—OfIRTEE; 10a—Fp 64 —LFEH,/—TF
ams | smek [smaes| [ |
ot | al\& i
(L8) (8) ($1E8) 7
£-E 6—2 6—2 2 2—0 1
INER - K 2—6 3—6 2 0—2 3
FH-HERA 2—0 6—3 2 1—1 2

3L
BB
28

Afi1
54
6

4\
9z
84z

BB EH-REHEGLR), £BE S8 -HhAHEEE), 3 ZE-BOHEGLR)



C-Dik 13—k 6 —AL%E. /—TR
A e FH-&A [#K(A)-#2H| /MEE-HE TN 237 W
(dt8) (dt8) (dt8)
FHR-&X 6—0 6—4 2 2—0 1
#HAED-#H# O0—6 6—4 2 1—1 2
/NS - TR E 4—6 4—6 2 0—2 3
C-Dik 14, 153—hk 64 —A%H., /—TR
2 Eil- BEIE NN 1A
B J— FE-RH Ell-AFHF EEFE-ngh  |[1ERE -SSR (H) TN 297 NI
(1tR) (dtR) (1tR) (dtR)
2
hE-RFH 6—4 6—1 2—6 3 2—1 0.56
BW-EH 4—6 1—6 1—6 3 1—2 4
=1 . _— — J— J— 3
SE15 - NHh 1 6—1 6—4 3 2—1 0.54
1
3 3P )] 6—2 6—1 4—6 3 2—1 0.64
JIE {32 3R 7E 5%
162, 242 133—k 64 — LSEER./—TF 3. 461 14—k 64— L, /—TFK
FH-#X AR (AT) -#FH

1ERE- 85K (B)

5—74f 153—Fk

/N - E

SW-EH#

Bye

3R4E- I

BB FH-BAREGLR), @ AR AR BB JLR). 36 8ARG) -HHEALR)

- B

A7 — L5 /—TF

CIAITDEY ETONTF—C w %)

¥R

3518 - I

(o))

AR (7l -
W




